[ Efficiency vs vertpos |
- 05

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15
0.1
0.05

ettic

o +- -

JARRNRAE . J BARM IIIII""l""IIIII AN RARRNRRREN LERRN RRALE LR
= 53
== SR

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
Effici —e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
iclend _, DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

~ 0.5
T S R P R

o E . : . ,
L i S A e
N SRS ST SR S
T S YT T
=] o : : : . .
£ 03 i R preeee
o o : : : . .
A proveedeeeeee preee
R S S
T e Aty STees T S
L T S R S e e

R T e

0 I I B2 TR

TTr T T [ITTrT
-

Ratio
N
!
——
o

0.95!

—=

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 05 -
> :
80.45 :
£ :
D 0.4 :
20.35 :
P :
c 0.3 :
() :
[} H
£0.25 :
o B :

0.2

0.15 :

0.1 f

0.05F :

~F. i i e L. i
o i . T
"‘—c' i . .
o [l
1:»—1:; -------------
%% 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


